L @ |

unrise Windows, LTD.

L
=
WA

Coastal Performance
Sliding Patio Door

"IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Sliding Patio Door described herein complies with the 2018 International Residential
Code (IRC), Sections R301 & Ré09 and the 2018 International Building Code (IBC),
Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment to
base material shall be beyond roof covering.

2.  When used in areas requiring wind-borne debris protection, this product complies with
Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC and does not require
impact protection. This product meets missile level "D" and includes Wind Zone 3 as
defined in ASTM E 1996.

3. Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevation, design pressures & general notes
Horizontal & vertical cross sections

Frame anchoring

Components

Bill of materials & glazing detail

| |WIN|—

94.5" MAX. OVERALL FRAME WIDTH

%

\.‘\.\.\\.‘\1\ @
-x i 83

%

*
D

,

111

OF T&

T E)
i&'ﬁé’éi'?f'g_g}j{{“

-
~

0, L
Illl x> QQ,;“‘
1\'\:\,1x\\x“~

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

79.5" MAX. OVERALL FRAME HEIGHT

V4

// l/
ya ya
/ /

V4

L Water Bar Required

94.5" X 79.5"

47.81" X 75.25" [ 40.88" X 69.06"|G1, G2

+50.0

P.0. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

SUNRISE WINDOWS
TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PART OR ASSEMBLY:

PRODUCT:

BY

NO)| DATE

REVISIONS

DATE: 3/04/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX—5164

sHEer 1 ofF _ 5

Z:\Clients\Sunrise Windows\B - Texas Dept of Ins\TDI - XXX ID XXXX SGD PH IMPACT\C - Drawings\TX-5164.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.



*ON| SLNVLINENODO aNIaTIing ‘M L2202 @

Z2S8LL—4 # NOLLVALSIOZN 40 3LVOIJIIYIO SNOISIATY
SYIINIONT TYNOISS340¥d 40 Quvod Svxal mzmﬁﬁm%ﬁmwmmo Ad 31vad [ON]~ - 5_
EGa " NE%) i
L616°659°CL8 ON ®euoyd ) ©
S6GEC "1d OOMIDA 0£Z Xog ‘O'd \Sgg ‘ATBNISSY d0 Lldvd W _M == = 1o s
*ONI ‘SINVLINSNOD ONIalng Y g | 2_
SMOAQNIM 3SIENNS m [&|Ele &
€ZLHYOL# "3'd SvxX3l : s o |E
‘3'd .«EE*”._om °*4 uopuki :Ag peJpdead sjuewnsog ‘1onaoyd M M m W m M
F=7 eniyol 2
), peesmarannens ettt 4| 4 L
2 i aminos 3 NOaNA.g 5
ﬁ. ................ ¥ .“. o
O% ixg Q O
y) 3 Gy o =z =
& ¥ o, AT o}
- %Y..... e QYL O O
- \*\ “os0q00’ @(L\l\ W c "
-... 31 40 o QO
e e
%)
P
(o]
oc
(&)
<
O
=
v
>
mw
oz
o
m_ =
o -]
— n m w R T
=
)
N O
- L) w
= ]
o o nJARL) 7]
™)) (S ™)« mu“
nNu Q
—]
e = <
IR T I A (@] <
4 o)
A N
© : :
g 8
S QO
N. NN
L
B
i
>
m

INTERIOR
EXTERIOR

A4
/// <
T
i
39
43@ g

m HORIZONTAL CROSS SECTION

48

X
1-3/16" MIN
EMB. (TYP.)
34
47
(]
[/GJ
7Y
13

////

| = —
E

Drywall
(TYP.)
'\
Exterior Sheathing
(TYP.)

BMpy9 1 §-X1\sBuImeIq - D\LDVdINI Hd aDS XXXX Al XXX - IaL\su] Jo 1daq sexa] - g\smopulm 3SHUNS\SUa!|O\:Z



Z:\Clients\Sunrise Windows\B - Texas Dept of Ins\TDI - XXX ID XXXX SGD PH IMPACT\C - Drawings\TX-5164.dwg

CONCRETE ANCHOR NOTES:

2X FRAMING

(BY OTHERS) \

‘;\_‘\,\\?\;\.\ltl
Sttty l‘ll

S x0T )

:(-o R W /0 1(

':,"‘. 3 .:2 * *, 2 <,
s iR, 09
Py TOIR W k
l:lu: ) S T M .‘#
B 157 &izY ¢
Pt ;.o o‘_?a2 A\
& 15 o

XIS

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123
NC

813.659.9197

FLOOR SUBSTRATE MATERIAL
CONCRETE (MIN. 3000 PSl)
WOOD (8.G.>=0.42)

. Concrete anchor locations at the comers may be adjusted to maintain the min.

—

. Concrete anchor table:

edge distance to mortar joints.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

mw

1apcon® | 14
DeWALT - - - .
uuiracony 14 1-3/4 21/ 4

WOOD SCREW INSTALLATION NOTES:

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

5 l=— 8" (TYP.)
PANEL ~— e =
4 o >
N (TYP) ’* r
T TTT 1 T
| f
HEAD ‘ |
(TYP.) ‘ |
JAMBS
| me)
|
WOOD ‘ ‘
CONCRETE
SILL i 1 {
(TP il i
FRAME ANCHORING

(TYP.) —"

17" MAX. O.C.

(TYP.)

P.0. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, |
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

SUNRISE WINDOWS

PART OR ASSEMBLY:

PRODUCT:

FRAME
ANCHORING

BY

REVISIONS

NOJ DATE

oAaTE: 3/04/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX-5164

SHEET 3 OoF 5

© 2021 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINENDOJ aNIging *Mm"'sd Lz0z @

2S8LL—4 # NOLVAISIOFYN 40 ILVOIALLNID SNOISIAIY
SYIIANIONI TYNOISS3H0¥d 40 ANVOE SVX3L SININOdWOO Ad 31va [ON|~ 5_
L6L6'6G9°SL8 "ON suoyd ﬂ V) W 2 S w
S6SEE 14 O9UIPA 0SZ XO8 °O'd \N\Mﬂg. X1GNASSY 90 Lavd b4 = E1®
*ONI ‘SINVLINSNOD ONIdTINg V = . g v_A 4_
P S SMOANIM FSINNNS aE w m s |
‘ad .uv_Emow 4 uopufq :Ag pedpdeid sjuswnosoq 119naoYd IR z 5 w m
S
I a
5 a3 )
R .
o O g
1 — 9
. | (®
- % «£€°0 ~——
o
-]
@ % oL &
u.l. D -
w
s Ot ¥ GD :
g m
WLC'1 _
=
B :.V.v.m w
! =
| e ()
I m
- \ g
8 3 52
~— \ % | on
1 ET®
77
W£9°1
=
=
o3 21T _
- |
~ 0 ]| B
) S
(]
R 3
= N S &5
@ + ~ ‘ £
b
(= . .
o |‘ wu :N.V_. O
|
I — :_.N.N — " 4
\
[ — =
&
| =0
g b7
] 3
=0
ol = B2
[a Y]
w ~ =
3 Q g b
3
! £
_J||H ]| _Mﬂ
G
)
—iﬁ ‘
—/

BMPr9L5-X L\sBumelq - D\LDVdINI Hd DS XXXX Al XXX - [QL\su] J0 1daq sexaL - §\sMOpuIMm 3SUUNS\sual|D\Z



Z:\Clients\Sunrise Windows\B - Texas Dept of Ins\TDI - XXX ID XXXX SGD PH IMPACT\C - Drawings\TX-5164.dwg

BILL OF MATERIALS

ITEM # | DESCRIPTION MATERIAL
B 2X BUCK SG >=0.55 WOOD
c 1/4' MAX. SHIM SPACE -
F #10 FH SMS (1-3/4" MIN. EMBEDMENT) STEEL
G 1/4" FH DeWALT OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
H #10 X 5/8" FH SMS STEEL
L #10 X 2-1/2" PPH SCREW (1-3/16" MIN. EMBEDMENT) STEEL
M #10 X 1-3/4" PPH SCREW (1-3/16" MIN. EMBEDMENT) STEEL
1 FRAME HEAD* PVC
2 #8 X 2-3/4" FH QUADREX WOOD SCREW STEEL
3 WEATHERSTRIP (SCHLEGEL #HF-7522-270) -
4 HEAD TRACK* PVC
5 STILE & RAIL* PVC
9 SHIM -
10 TANDEM WHEEL NYLON
11 ROLLING RAIL ALUM
12 SILL* PVC
13 SILL DUST COVER* PVC
14 SILLPLUG NYLON
15 SILL WEATHERSEAL =
17 LEFT CAP FOR SILL ADAPTER* PVC
18 RIGHT CAP FOR SILL ADAPTER* PVC
19 #8 X 5/8" PAN HEAD, SQUARE, SELF-DRILLING SCREW STEEL
20 [ OUTSIDE SILL CLADDING ALUM
22 | INSECT STOP .
23 [ SCREEN -
24 | #8 X 7/8' PAN HEAD, QUADREX, SCREW STEEL
25 | FIXED PANEL ANCHOR BLOCK* PVC
27 | SCREW CAP NYLON
28 | GLAZING BEAD* PVC
29 | FOAMPLUG -
30 | HEAD WEATHERSEAL -
31 #8 X 1-1/4" PAN HEAD, QUADREX, SCREW STEEL
32 [ SASH STOPPER EPDM
33 | WEATHERSTRIP =
34 [ FRAME JAMB* PVC
35 | WEATHERSTRIP -
39 [HANDLEKIT STEEL
40 | OPERATING PANEL SIDE STILE* PVC
42 | KEEPER FOR SCREEN =
43 | #4 X 5/8" PAN HEAD QUADREX SCREW STEEL
46 | STAINLESS STEEL DOUBLE POINT MORTISE LOCK KIT STEEL
47 | SASH COVERING CAP* PVC

* THE APPROVED WHITE RIGID PVC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE
PRODUCED BY EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR
RIGID PVC EXTRUSIONS".

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

48 LOCK PLUG* PVC
50 | STILE REINFORCEMENT (CS TYPE B HOT DIPPED GALV.) STEEL
51 | #8 X 2" TRUSS HEAD QUADREX SCREW STEEL
52 | INTERLOCK ALUM
53 | STILE REINFORCEMENT (CS TYPE B HOT DIPPED GALV.) STEEL
54 | Q-LON WEATHERSTRIP [SCHLEGEL NO. QEZ 345) :
55 | WATER BAR ALUM
56 | #8 X 1" PPH SMS SS
SILICONE 1/2"
(PECORA 89¢HIS GLASS BITE
OR
SIKAFLEX-552] — 1"THICK GLASS
— R 7===">) 5/32" ANNEALED

——— 0.090" SAFLEX® HP PVB INTERLAYER

I~~~ 5/32" ANNEALED
AIR SPACE

d \1 \5/32"TEMPERED

/A

SUPER SPACER

<: ) GLAZING DETAIL
Intigral Glass

SILICONE “
(SIKAFLEX-552) 1/2
GLASS BITE
— 1"THICK GLASS
(]
C ==\ = 5/32" ANNEALED
0.090" TROSIFOL® PVB INTERLAYER
y 3~ 5/32" ANNEALED
AIR SPACE
——)
==, ] T I~ 5/32" TEMPERED

ST. STEEL SPACER

(:> GLAZING DETAIL
Cardinal Glass

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197

Ry

Documents Prepared By:

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

SUNRISE WINDOWS
BILL OF MATERIALS

PART OR ASSEMBLY:

PRODUCT:

& GLAZING DETAIL

NO. DATE

REVISIONS

DATE: 3/04/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX—-5164

SHEET 5 oF _5

© 2021 R.W. BuIlLDING CONSULTANTS INC.



